158

>h

310

VAV,
316

—

I

115

| o18

40

@ﬂ//

SR741 - WASHER PLATE
115 x40 x 5 DIA. 18

D

SR743 - M16 HEX NUT

]
1
=33
!
I

SR468 - 'A' PROFILE BEAM 3MM THICK

NOTE: THIS HOLE IDENTIFIES THE REQUIRED
ORIENTATION OF THE BEAM AND THE BEAM
END WITH THE ADDITIONAL HOLE SHOULD
BE SITED AS THE REAR BEAM AT LAP JOINTS

M16

SR740 - SETSCREW 8.8

M16x45

' ‘ I PLATE DIMENSION

700 MAX

APPROACH
OFFSET POST

CAN BE FIXED WITH
CAST IN ANCHORS, DRILL
AND FIX ANCHORS OR
PUSHED IN ANCHORS
AT 180x180 CENTERS

400

PLATE DIMENSION

700 MAX

SR742 - M16 WASHER

4 No. M20

THREADED HOLES

M16

SR207 - M16x30 SETSCREW HRK SHOULDER
c/w NUT

SR209 -
M16 WASHER 18¢ HOLE x 38

50

PLATE DIMENSION !

700 MAX

DEPARTURE
OFFSET POST

400

PLATE DIMENSION

BASEPLATE DRILL &
TAPPED FOR LIFTING EYE

700 MAX

f
‘120‘ 3

‘120‘ 3

- —=]

‘i'gg44444444444444444444444444

2400

2000

SR475 - N2wW1 C120
POST 2400mm

1000

=

SR100 - A21 SR394 - N2w1
REINFORCING C120

RING FOUNDATION x
1000

POST 2000mm

1200

Q
wn
<
SR490 - N2w1

C120 POST C120
SOCKET x 450

1200

SR474 - N2W1 C120

220

220

320

SYSTEM POST
IDENTIFICATION

1100
HEIGHT TBD

D D

1800

i

SR472 - N2w1 C120
POST 1100mm

JL A N

SR473 - N2W1 C120
POST 1800mm

1400

500
550

il

SR395 - N2W1  SR491 - N2W1 SR396 - N2W1 SR492 - N2W1

C120 POST C120 C120 POST

FOUNDATION x  SOCKET x 500 FOUNDATION x SOCKET x 550

1400

220

SR471 - SURFACE
MOUNTED N2W1 C120
POST

v X

08 |(21/11/24] M16x45 CODE UPDATED H.B

07 |(21/12/23| PART NUMBERS UPDATED H.B

06 |19/12/23 DETAILS UPDATED H.B

05 |17/07/23 LAP BOLT CHANGE H.B

04 |14/07/23| LAP BOLT DETAILS REVISED | H.B

03 [19/06/23|  SOCKET SIZES UPDATED H.B

02 09/06/23] SMP DETAIL UPDATED H.B

01 [19/05/23|COMPONENT DETAILS UPDATED| H.B

00 |[30/08/22] DRAWING CREATED H.B

REVn DATE DETAILS INITIAL

MEGARAIL
EP-C120 N2/W1

COMPONENTS SCHEMATIC

B sarFeroA0

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

DRAWING NUMBER: REVn:

MR-C120N2W1-GA-00| 08




BEAM TO POST CONNECTION TYPE 1
AND BEAM TO BEAM CONNECTION

(1 No / 4m BEAM)

SR740

SR207 | SR209

GENERAL NOTES:

1. POSTS ARE TO BE INSTALLED WITH
THE CLOSED FACE OF THE CHANNEL
TOWARDS THE ON-COMING TRAFFIC.

2. FOR OPTIONS ON POST

/ o— 1 o FOUNDATIONS REFER TO DRAWING
SR741 3 SR207 ) SR209 NUMBER MR-GA-020
[ T |\ 3. FOR DEVIATIONS IN SYSTEM POST
SR742) Y I / PITCH REFER TO DRAWING
[ —
SR743 T SR207 )} SR209 MR-C120N2W1-GA-40
\ N \ 4. WHEN TYING INTO ADJACENT VRS
N | | \ ONLY ONE WORKING WIDTH
AN \ DIFFERENCE IS PERMITTED.
== | | | - — } } 5. WHERE A KERB IS PRESENT THE
— I I I ; - I I MAXIMUM KERB HEIGHT IS 100mm.
- = [T E3 I 1 _L E3 L2] 6. FOR MINIMUM LENGTH OF FULL
e — ! ! ! — I I HEIGHT VRS REFER TO SAFEROAD
2 T T T T i i i MEGARAIL MANUAL.
= N —=—— 7. EXPANSION BEAMS TO BE USED
WHEN THE SYSTEM PASSES OVER A
MOVEMENT JOINT
2000 2000 2000
POST 316
CONNECTION BEAM MIN. 600
TYPE 1 LAP
N2W1
C120 POST—l
E 1 E 1
o + t + t — |
— ’ B N
i
Il o
TRAFFIC FLOW sl il =g
TYPE 1 CONNECTION — ~ I I o
o
11 ©
L
1 1
MEGARAIL
POSTS SHOWN IN BELOW TABLE SYSTEM ASSEMBLY AND SETTING
ARE FOR VERGE INSTALLATIONS ONLY. OUT ARRANGEMENT SCHEMATIC
CENTRAL RESERVE POST VARIANTS
TO BE USED WHEN REQUIRED
SCHEDULE OF VERGE POSTS REFERENCE SCHEDULE OF CENTRAL RESERVE POSTS
SYSTEM COMPONENT SCHEDULE - QUANTITIES / 4m BEAM NUMBERS AND LENGTHS REFERENCE NUMBERS AND LENGTHS BESSE'&E)RNS\?ARYD IS'|((:)UUNS.FI:|ORPE
SAFEROAD SAFERI\?J}?BEE PART POST LENGTH SAFEF?\J?JAEBEE PART POST LENGTH 04 |21/11/24] M16x45 CODE UPDATED HB | NORTH LINCOLNéHIRE DN15 8)2E
UK PART DESCRIPTION QUANTITY . :
NUMBER SR475 2400 SR533 2400 03 [21/12/23] PART NUMBERS UPDATED | H.B t: 01724 289119
A SR474 2000 SR532 2000 FOR TECHNICAL ASSISTANCE CONTACT
SR468 | 'A' PROFILE BEAM x 3mm THICK 1 02 |17/0723 7 BOLT CrANGE B B L o
SEE TABLES | N2W1 C120 POST x 5mm THICK 2 SR473 1800 SR531 1800 o [0 p—— — john. pp -CO.
. DRAWING NUMBER: REVN:
FOR SCHEDULE OF BOLTED CONNECTIONS REFER TO DRAWING SR472 1100 SR530 1100 "
NUMBER MR-C120N2W1-GA-02 SR471 SURFACE MOUNTED SR534 SURFACE MOUNTED 00 [30/08/22]  DRAWING CREATED H.B _ (A
REVNn DATE DETAILS INITIAL R C 1 20 N 2W1 GA 0 1 04




RIGHT HAND BEAM
LEFT HAND BEAM

'\

S

BEAM TO BEAM LAP
CONNECTION ARRANGEMENT
(PER BEAM END)

**  BEAM REFERENCES i.e. LEFT / RIGHT HAND ARE FOR VERGE
INSTALLATIONS; FOR CENTRAL RESERVATION INSTALLATIONS THE
REFERENCES ARE REVERSED

C120 POST

B+

BEAM TO POST FIXING SCHEMATIC

(CONNECTION TYPE 1)

BEAM TO BEAM LAP BOLTING SCHEDULE

TOTAL QUANTITIES PER POST

SAFEROAD g
UK PART DESCRIPTION P?;IEYA?VI
NUMBER

SR207 | SETSCREW 8.8 HRK M16x30 c/w NUT 8 (+8)

SR209 | M16 WASHER 18@ HOLE x 38 8 (+8)

SR740 SETSCREW 8.8 M16 x 45 1
SR741 WASHER PLATE 115 x 40 x 5 DIA. 18 1
SR742 WASHER M16 18¢ HOLE 1
SR743 M16 HEXAGON NUT 1

GENERAL NOTES:

1. NUMBERS IN THE SCHEDULES SUFFIXED (+)
DENOTES THE ADDITIONAL QUANTITY OF
COMPONENTS REQUIRED FOR EXTREME ENDS
OF INDIVIDUAL RUNS OF BARRIER.

04 |21/11/24] M16x45 CODE UPDATED H.B

03 (21/12/23] PART NUMBERS UPDATED H.B

02 |17/07/23 LAP BOLT CHANGE H.B

01 |19/05/23 FLANGE NUTS ADDED H.B

00 |[30/08/22] DRAWING CREATED H.B

Dy DETAILS INITIAL

MEGARAIL
EP-C120 N2/W1

FIXING AND INSTALLATION
SCHEMATIC

B sarFeroA0

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

DRAWING NUMBER: REVN:

MR-C120N2W1-GA-02| 04




GENERAL NOTES:

1. POSTS ARE TO BE INSTALLED WITH THE
CLOSED FACE OF THE CHANNEL TOWARDS THE
ON-COMING TRAFFIC.

NOTE: THIS HOLE IDENTIFIES THE REQUIRED
ORIENTATION OF THE BEAM AND THE BEAM
END WITH THE ADDITIONAL HOLE SHOULD

BE SITED AS THE REAR BEAM AT LAP JOINTS

|— N2W1 C120 POST

oooi
o] (o] |0]

) )
(o= =3
o o
|
= . =
RIGHT HAND BEAM
03 |21/11/24] DRAWING UPDATED H.B
LEFT HAND BEAM 02 |21/12/23] LOGO UPDATED H.B
LAPPED OVER RIGHT HAND BEAM 01 |[19/05/23 NOTE REMOVED H.B
00 |30/08/22 DRAWING CREATED H.B
REVN DATE DETAILS INITIAL

TRAFFIC FLOW

MEGARAIL
EP-C120 N2/W1

BEAM LAPPING DETAILS

SAFEROAD

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

DRAWING NUMBER: REVn:

MR-C120N2W1-GA-03| 03




— EXTENT OF N2W2 SYSTEM

FOR MEASUREMENT PURPOSES

MEGARAIL N2W2 MEGARAIL EP C120 N2w1
N2W2 €100 POSTS N2W1 C120 POSTS
2000 OR 4000 _, 2000 OR 4000 2000 2000 2000
CENTRES | CENTRES CENTRES CENTRES J_'CENTRES
i v o
L | i i
| | B B
| | | R
| |
. .
| | I I
. .
} } (. .
‘ | [~ LAST N2-W2 SYSTEM | | —FIRST N2-W1 SYSTEM -
POST } | POST I
% %
o o
o S [-] =k [-]
o o - -
= = [=) [=) o =)
o o
< < I
b =3 =2) =3 = T =
CORRUGATED
'A' BEAM PROFILE
CORRUGATED (SR468)
'A' BEAM PROFILE
CORRUGATED (SR468)
'A" BEAM PROFILE
rorie MEGARAIL
EP-C120 N2/W1
SYSTEM PROGRESSION DETAILS
CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
03 [21/11/24]  DRAWING UPDATED HB t: 01724 289119
GENERAL NOTES: 02 121712723 PART NUMBERS UPDATED 0B FOR TECHNICAL ASSISTANCE CONTACT
1. POSTS ARE TO BE INSTALLED WITH THE CLOSED FACE OF 112/ : john.cudlipp@saferoad.co.uk
THE CHANNEL TOWARDS THE ON-COMING TRAFFIC. 01 |19/05/23 DETAIL UPDATED H.B [oravmG nuveer: REvN:
% BEAM REFERENCES i.e. LEFT / RIGHT HAND ARE FOR VERGE INSTALLATIONS; FOR CENTRAL RESERVATION 00 |30/08/21  DRAWING CREATED HB
INSTALLATIONS THE REFERENCES ARE REVERSED — é ATE/ — — R-C120N2W1-GA-20| 03




GENERAL NOTES:

1. IF THE SITE CONDITIONS DO NOT ALLOW A
POST TO BE INSTALLED ON THE SYSTEM PITCH
DEVIATIONS CAN BE APPLIED. THE
OBSTRUCTED POST CAN BE LEFT OUT AND
EXTRA POSTS INSTALLED TO SPAN THE
OBSTRUCTION AS PER THIS DRAWING.
ALTHOUGH IT WOULD BE BENEFICIAL TO USE
THE HOLES ALREADY IN THE BEAM IT IS
ACCEPTABLE TO DRILL NEW HOLES IN THE
DESIRED POSITIONS AND TREAT WITH ZINC
RICH PAINT.

2. OFFSET POSTS SHOWN ON DRAWING
MR-C120N2W1-GA-00 CAN BE USED.

03 [21/11/24]  DRAWING UPDATED H.B

02 |21/12/23 LOGO UPDATED H.B

DEVIATION TOLERANCE H.B

01 |1 2
S/05/23 CHANGE

00 |[30/08/22] DRAWING CREATED H.B

DATE DETAILS INITIAL

| | | | | |
] ] ] —— ] ]
= o = =1 : xa : =T & xa
1 1 1 1 1 1
i i i — i i
| OBSTRUCTION |
T4
2000 1000 MIN. 2000 1000 MIN. 2000
2000 1000 MIN. 2000 1000 MIN. 2000
| | |
== | | | =
=+ ! ! ! ==
| | | | | |
|
|
PUSHED IN ‘ OBSTRUCTION i || ||
CRADLE ANCHOR

|
\ DRILL & FIX

OR PUSHED IN
ANCHOR

MEGARAIL
EP-C120 N2/W1

DETAILS OF PERMISSIBLE
DEVIATIONS FOR POST POSITONS

B sarFeroAd

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
t: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

DRAWING NUMBER: REVn:

MR-C120N2W1-GA-40| 03




4000 MIN.
EP Cl20 Newl

/\ 8000
TRANSITION CURVE
(POSTS AT oM c/0)

o

EAD IN LENGTH

z

L
i

TAPER LENGTH ¢

110
POSTS AT 2y anER>

M C/C)

—] S,
POST anGLE
J THROUGH 1.0 TAPER

L
L

/\ 8000
TRANSITION CURVE
(POSTS AT 2M c/cy

4000 MIN.
EP C120 N2wl

=

20000

EXAMPLE TAPER
_— TRANSITION CURVES MADE UP OF 2No. (TAPER MAY BE INCREASED/DECREASED AT A RATE OF 110 RUN-OUT LENGT
STANDARD LENGTH EP C120 CORRUGATE BEAMS TO SUIT THE CHANGE IN SETBACK)
TRAFFIC FLOW
TF
MEGARAIL EP Cl120 Newl
110 VERGE TAPER TAPER MAY BE EITHER TOWARDS (AS SHOWN)
/R 8000 SCALE: 11120 OR AWAY FROM TRAFFIC FACE. —_—
4000 MIN. | TRANSITION CURVE
EP Cl20 Newl POSTS AT 34 05
TAPER L
(PDSTESGTH <10 TAPER)
a2 B 5 AT auM C/Cy
—_ —] , e
8000
PO
AR . 17 J/\ —THRDUGSHT ﬁ%GLTipl mTRANSITIDN CURVE . 4000 MIN.
EAD IN LENGTH = . ER (POSTS AT 2M C/Cy EP Cl20 Nawl
a
: aD ﬁ
|
I —— ! 2

GENERAL NOTES;

1

ALL DIMENSIONS IN MILLIMETRES UNLESS NOTED
OTHERWISE.

FOR GENERAL DETAILS REGARDING MEGARAIL EP
C120 N2Wwl, SEE SYSTEM MANUAL DRAWINGS

FOR MINIMUM LENGTH DOF FULL HEIGHT VRS, REFER
TO SAFEROAD MEGARAIL MANUAL.

CHANGES IN HORIZONTAL ALIGNMENT BETWEEN THE
LEAD IN AND RUN-OUT LENGTHS OF MEGARAIL EP
C120 ARE TO TAKE PLACE UNIFORMLY OVER THE
TAPER LENGTH

WHERE CHANGES IN HORIZONTAL ALIGNMENT OCCUR
(WHICH MAY ALSO BE DUE TO THE ALTERNATE
METHOLOGY FOR DETERMINING REFERENCE HEIGHT
OF BARRIERS - REFER TO MR-GA-001> THIS MAY
RESULT IN LOCAL ISLOATED AREAS OF FENCE THAT
ARE DOUTSIDE THE RANGE OF PERMISSIBLE
DIMENSIONS

WHERE THE RATE DOF CHANGE IN SET BACK IS
LESS THAN 130 (IE 135>, NO TAPER ARRANGEMENT
IS REQUIRED.

OFFSETS OF POSTS IN TRANSITIONAL CURVE CAN
BE DECREASED IN RELATION TO THE SETBACK, BUT
MUST NOT BE INCREASED

TAPER MAY BE TOWARDS (AS SHOWN) OR AWAY
FROM TRAFFIC FACE. IN BOTH CIRCUMSTANCES,
DETAILS SHOWN IN THE ABOVE DRAWING MUST BE
IMPLEMENTED.

20000

RUN-OUT LENGT

MEGARAIL
EP-C120 N2/W1

VERGE AND CENTRAL RESERVE
TAPER GENERAL ARRANGEMENTS

B sAFerROAD

CONCORD HOUSE,
BESSEMER WAY, SCUNTHORPE,
NORTH LINCOLNSHIRE, DN15 8XE
T: 01724 289119
FOR TECHNICAL ASSISTANCE CONTACT
john.cudlipp@saferoad.co.uk

EXAMPLE TAPER % 8 @
(TAPER MAY BE INCREASED/DECREASED AT A RATE OF 110
TO SUIT THE CHANGE IN SETBACK)
A TRAFFIC FLOW
TF
MEGARAIL EP C120 Newl
110 CENTRAL RESERVE TAPER
SCALE: 1:120
OFFSETS OF POSTS WITHIN TRANSITIONAL CURVE
CAN BE DECREASED IN RELATION TO THE SETBACK,
BUT MUST NOT BE INCREASED
il o
| | _ _ |
K | [ | |
|| ||
|| |||
|| [
| | | [ | |
I i i ||
|| g~ ~8 |||
K | +H + [ | |
| S S ||
I 0 0 |
|| |||
| | | [ | |
| | | [ | |
| | | [ | |
\ 1 \ } \ 1
A-A B-B
(VERGE SECTION THROUGH (CENTRAL RESERVE SECTION THROUGH
SCALE: 116 SCALE: 116
01 ([e1/12/23 LOGO UPDATED H.B
00 |31/10/23 DRAWING CREATED H.B
REVNn DATE DETAILS INITIAY

DRAWING NUMBER:

MR-C120NeW1-GA-41 01

REVN






